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mm kg/m kg kg

1 D16 2,700 2| 1.56 4.21 8
2 D16 1,220 3] 1.5 1.90 6 (F435%)
3 D16 770 3] 1.5 1.20 4 (FH3%)
4 | pi6 1,850 2] 1.56 2.89 6
5 D16 1,000 3 1.56 1.56 5 (FHR)
6 D16 150 3] 1.5 0.23 1 (F495%)
7 D16 3,000 1] 1.5 4.68 5
8 D16 1,670 1| 1.56 2.61 3
9 D16 1,190 1| 1.56 1.86 2
10 D16 760 1] 1.5 1.19 1
1 D16 1,250 1] 1.5 1.95 2
12 D16 1,340 4]  1.56 2.09 8
13 D16 1,490 4] 1.56 2.32 9
1 D16 4,330 | 52| 1.56 6.75 351
2 D16 2,780 6 1.56 4.34 26 (FH5%)
3 D16 870 6] 1.56 1.36 8 (F95%)
4 D16 1,760 6] 1.56 2.75 17 (F45%)
5 D16 1,900 6] 1.56 2.96 18 (%)
6 D16 4,500| 27|  1.56 7.02 190
7 D16 4,920 1| 1.56 7.68 8
8 D16 4,140 2] 1.56 6.46 13 (F435%)
9 D16 2,370 3] 1.5 3.70 1 (FH3%)
10 D16 1,490 3l 1.56 2.32 7 (%)
1 D16 3,790 2 1.56 5.91 12 (FHR)
12 D16 2,820 1] 1.5 4.40 4
13 D16 2,120| 29| 1.56 3.31 9
14 D16 2,920| 29| 1.56 4.56 132
15 D16 740 6 1.56 1.15 (FHR)
16 D16 1,740 3] 1.5 2.71 8 (F49%)
17 D16 510 3] 1.5 0.80 (F435%)
18 D16 3,000 4]  1.56 4.68 19
19 D16 1,740| 20|  1.56 2.71 54
20 D16 1,680 8|  1.56 2.62 21
21 D16 1,670 8|  1.56 2.61 21
2 D16 1,370 1.56 2.14 9
23 D16 1,500 1.56 2.34 19
24 D13 53| 11|  0.995 0.53 6
25 D13 53| 32|  0.995 0.53 17
1 D16 2,120| 10| 1.56 3.31 33
2 D16 2,920 7] 1.56 4.56 32
3 D16 2,120| 10| 1.56 3.31 33
4 | pi6 2,920 7] 1.56 4.56 2
5 D13 520 4|  0.995 0.52 2
1 D16 1,510| 15|  1.56 2.36 35
2 D16 3,560 5|  1.56 5.55 28

D16 1,306 kg

D13 25 kg

1,331 kg
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